TEA 1087
Monolithic integrated NPN-double transistors

High current cascade amplifier stage IF-preamplifier for surface wave filters

Total power dissipation

tamb = 55°C Ptot 750 mwW
Gain bandwidth product

Ic =20mA ST 700 MHz
Noise figure

Ic=10mA F 2,8 dB
Unilateral gain

Ic=20mA, =40 MHz Gy 36 dB

o 11,1

Fig. 3: 10 A3 DIN 41868
JEDECTO92;Z

NPN-Kleinsignaltransistoren fiir HF- und ZF-Anwendungen

Features:

® High gain

Low feedback

High input signal opportunity
High internal resistance
High dynamic stability

Case:

10 A 3 DIN 41868
JEDEC TO92 Z
Dimensions see page 21
Number 3
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